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&yky graph (connect - thedots, grad school version)
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I Draw Cayley graphs for
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Cayley Complex

(Xa), = TG

(xa),: For each geG, weR, attach a 2-cell
to Ta via the loop starting at g.
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Aon GYo
Given Le I, define action cell-wise (and check compatibility)
0-cells: hog = hg
1- cells: h(g*gx) = hghgx
2-cells: Take 2-cells to 2-cells homomorphically w/
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Ontient AEXa
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&1 "Galois theory" of covering maps and in,

[subgroups of XSE (covers" ofxS

Ne. c is a "universal cover" of Xa,

corresponding
to ekπ.Xx=G

· cover for HEG arises as Xc/A-Xc


